Gnarps BK
Aggtavling 2019-04-15

Partavling, 5 bord, 9 par. Antal brickor: 27. Medel: 81.0. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb

1 5 106.9 65.97  Jeanette Bliderud - Ingemar Johansson 3717 800 Gnarps BK - Kvissleby BK

2 6 104.6 64.58  Lennart Norling - Anders Ahslund 16869 36083 Gnarps BK

3 7 91.1 56.25 Hans Bergvik - Bengt Wimo 9251 24940 BK Hudik

4 8 88.9 54.86  Per-Anders Sjégren - Jan-Erik Astrém 10757 22123  Gnarps BK

5 1 84.4 52.08 Allan Mdller - Hans-Arne Frelin 40376 12464 Gnarps BK

6 4 73.1 45.14  Bernt Pettersson - Olle Eriksson 28837 54372  Kvissleby BK

7 9 64.1 39.58  Alvar Bydén - Bengt Lundmark 8183 16086 Gnarps BK

8 3 59.6 36.81  Anders Hjelm - Bengt-Ove Berglund 16868 18344 Gnarps BK

9 2 56.3 34.72  Lena Torngvist - Agneta Eriksson 26453 21452  Gnarps BK
1 Nord Ingen 2 Ost NS 3 Syd OV 4 Vast Alla
Par  Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
52 44 S+1 97 450 6.000(52 4eV-2 ¢9 100 6.000(7 3 3NV-2 &2 200 6.000|19 4vV-2 +A 200 5.01.0
73 34S+1 42 170 4.020(98 4eV-1 ¢9 50 4020(46 3NV-1 #4 100 303063 4vV-2 +A 200 50 1.0
98 3¢N-1 &K 50 2040(46 3NO= ¢3 -400 1050(52 3NV-1 49 100 3030|57 3«N= vK 110 2.0 4.0
46 4¢ N-2 &K -100 006.0(7 3 3NO= ¥3 -400 1.050|98 24 O+1 #Q -140 006.0(8 4 3vy V+1 ¢A -170 0.0 6.0
-1 31|-1 31|-1 31|-2 2.1
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vast Ingen
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
57 3NN= vK 600 6.000(63 44S-3 &5 -150 6.00.0(6 8 24 O-3 #4 300 50 10|68 54aDN= vA 550 6.0 0.0
84 24 S+1 v9 140 4020(8 4 34 O+2 &#A -200 40 20(7 4 34 0-3 vA 300 5010|21 3«N= 49 110 4.020
63 3¢4S= v9 110 204019 4eV+l vA -650 1.050(21 24 0-2 vA 200 2040|74 44S-1 +Q -50 1.05.0
19 3vyDO-1+¢A 100 006.0|57 4e4V+l #Q -650 1050(95 14S= &3 80 006.0|95 34S-1 +Q -50 1.05.0
-2 21)-2 21)-3 22|-3 2.2
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
6 8 BNS+1 ¥4 430 5.0 10(7 9 3NS+3 ¢T 690 6.00.0(79 3NN= #T 400 6000|116 4vV= 97 -420 4.0 2.0
95 3NS+1 49 430 501016 3NS+1 ¢9 630 3030(32 2NN= v2 120 4.020|3 2 4vO= «v5 -420 4.0 20
21 3¢N-1 ¢A 50 1.050(32 3NN+1 T 630 3.030(16 3NN-2 v2 -100 1.050|79 4v V= ¢J -420 4.0 20
74 3NS-1 v4 -50 1.050(85 54N= ¢Q 600 0060(85 3NN-2 ¥2 -100 1.050(|85 49 O+1 ¢3 -450 0.0 6.0
-3 22|-4 27|-4 27|- 4 2.7
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
81 4vS+1 44 650 6.000(81 44 N+2 ¢9 480 6.000(8 1 44DN+1¢J 990 6.000|54 24 N= +A 110 6.0 0.0
27 49S= 44 620 3.030(27 44N= v9 420 2040(27 24N= ¢J 110 4020|92 34N-2 vA -100 4.0 2.0
43 4vyN= 44 620 3.030(4 3 44 N= ¢5 420 204.0|43 4v0O-2 4K 100 204017 44 N-3 vA -150 2.0 4.0
96 3y S+2 43 200 0060(96 44 N= ¢2 420 2040(96 3y O= 4K -140 0.0 6.0|3 8 44DN-3 ¢A -500 0.0 6.0
-5 40(-5 40(-5 40(- 6 3.9
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
54 3NN+2 #J 460 501017 3vV+2 &A -200 6.00.0(4 9 5¢V-1 46 100 6.00.0(13 6NO-3 +5 300 6.00.0
92 3NN+2 &7 460 5.010(92 4vV= 4J -420 4020(13 3¢ V+2 48 -150 402028 3NO+1 46 -630 4.0 2.0
17 44S-1 ¢Q -50 2040|38 4vO+1 4K -450 20 40(65 54V= <vA -600 204.0(|4 9 3NO+2 ¥3 -660 1.0 5.0
38 6NN-2 &K -100 006.0(54 4v0O+2 ¢9 -480 006.0(28 3NO+2 45 -660 0.06.0/6 5 3NO+2 ¥3 -660 1.0 5.0
-6 39|-6 39|-7 34|-7 34
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
13 3NV-1 «4J 50 600024 4vDN= ¢A 590 6.000(|24 4v0O= ¢A -620 4020|511 2vS-1 3 -50 5.0 1.0
49 34S-1 ¢A -100 4020(3 9 49y N= &4 420 303039 4v0O0= v2 -620 4020(76 3vyvS-1 «T -50 5010
28 3#V= T -110 1.050(7 6 4y N= ¢A 420 3.030(76 4vO0= #A -620 402039 3vS-2 #A -100 20 4.0
65 3#V= 4J -110 1.050(51 4v N-1 &8 50 0060(51 4v0+2 v4 -680 0060(24 464V= v2 -130 0.0 6.0
-7 34|-8 33|-8 33|-8 3.3
25 Nord OV 26 Ost Alla 27 Syd Ingen
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
41 2v0-1 49 100 6.000(62 3NN= ¥4 600 5010(35 3y N= 44 140 5010
6 2 INV= ¢5 90 4.020(87 3NS= ¢2 600 5010(62 3y N= ¢A 140 5010
87 INV+1 5 -120 2040(3 5 3NN-1 ¥4 -100 1.050(8 7 34V-1 vA 50 2040
35 INV+3 ¢4 -180 006041 3NS-1 ¥2 -100 105041 4vN-1 ¢A -50 0.0 6.0
-9 241-9 241-9 2.4
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